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@ Question 1%?}@33 — 0 30
@2+ 18q + 65 =0
R NSO

A praz
i- <‘/5/‘5 ) B. p<q ég

P- (- %ﬁl ’ D =g

E. p =q or relation cant be

l/l?f) > il est?tblished/‘éiﬁ%l TITUd
ERRERIRSIREE S
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Question 2- 6p2 —23p+20=0 30
\.
CR{

g —5qg+4=0

‘L—»(TH,H)

A. p>q
B. p<q

_E- p =q or relation cant be
established/EsieT TITUT
ERRERISIRSETI

https://t.me/mathbytarunsirmepl 9




Question 3- pz +30p+81=0 30

g% +26g +48 =0

“E- p =q or relation cant be
established/EseT EATOT
EHRERISIRSE D]
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Question 4- pz — :_4p + 45 = () 30

q> —11g +30 =0

PN} ( Tj),? ) A. p>q

7/—7< -f'é;""i\)l ) B. p<q

P> i3 D.p>q
F< ] E—~p =q or relation cant be
L established/EsieT TITUT

e ToRaIT ST Hend
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Question 5- pz +13p+42=0 30
g> +21g + 104 =0

E. p =q or relation cant be
established/EseT EATOT
EHRERISIRSE D]
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Question 6- What approximate value should come 1n the place of

30

question mark (?) in the following question?

rTeTad T H 9 1@ (?) o T O STHTIA AT T ST <A1
6 1o L 5 2
(1591 +9.9)+1.92] x 498 =7 + 1.04
A. 6
65 -|=x>
N B, 8
X = e C. 4
X=@ D. 2
D E. None of these
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30 Question 7- What approximate value should come 1n the place of
question mark (?) in the following question?

EE=INIEn H%Tﬁsr%rﬁl‘é(?) h T GT STTATH HI T STHT =Me0?

222
22201+2013+20594—1O£;9><x +214.88
A. 100
230t 206-215= 2x B. 120
C- 110
Ye D. 130
= oS E. 210
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Question 7- What approximate value should come 1n the place of

3, question mark (?) in the following question?
AR
;Z% I-Il--||(’||{9|<'l T H T To% (?) o €A 9T AT 7 T STHET =180
7
/ (220 99 + 1T 97) = 2.9 = 8.88% 0f 299.93 +29.89 + ?
(220.99 +71.97) + 2.9 = 298:93-+29-89-FEE-884 + 7
29993 97 §-007, +99. 09+
el TFC = %4 3044 4
= HG-Q B. 61
307,91 3-0% Y2y, C. 71
___ D. 31
E. 21
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30 Question 8- What value should come in the place of question mark
(?) 1n the following question?
W HeTeTiad 99 4 99 9% (7) & LA 9T 3T =A1RE?
. %\0 | SK3 2
\Bo°|e 104% of 150 + 15 X 458 X V8414 29
@ 150 T 104% + 15 x 45 - 8 x /841
Ay, 23

3 xlen+ 63 — 232 A. 499
BT 599
= O _
(P18 = /56+6¥5~231 C. 399
=40 - _ &]3'\23 D. 299
=232 = Jog = E. None of these

—_——

—_—
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Question 9- What value should come in the place of question mark
(?) 1n the following question?

o0 9 g (7) o T W 0 47 ST A1E0?
32426 X 12+ 378 = 420 + 14 + x%of 126

26x12 +378=420+14+ 126 =T x%
63

3'2-{-3?@: 30"“@)(3( A. 554.2
2| %J( 220 56 B. 4442
ﬁ = C. 3332
Q/)(\ II P—523.8
= Q09 E. None of these
A= ||gog 923
A+ —
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30

Question 10- What value should come in the place of question
mark (?) in the following question?

ETTRId I | 97 g (?) o T 9L A 9T 37T =A11R0?

80% of 280 {(25)X(16—x + 24 X 4
280 T 80% = 25 x 16 —x + 24 x 4

21H=H00~)ng A. 172

B. 272

—X= 04 yq, C. 372

7= #2370 D. 112
X= ;—Qﬁ E. None of these
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Question 11- What value should come in the place of question
mark (?) in the following question?

MefeTiad I 1 T g () o T 9 HH =T AT ATey?
54 % 56 —80% of 1860 = /256 x ?

2
54x56 -1800 T 80% = V256 x ?

30

T

16X = |59y C. 79

A= |5 - 99 D. 69
/Lé E. None of these
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30 Question 12- What value should come 1n the place of question
mark (?) in the following question?

| MefeTiad 951 4 9 g (?) o T 9 AT =1 AT ATey?
HH-HH'/,,: x%o0f 800 x 0.75 + 600 =(44.44%)0f 1800
5l 800 T x%x0.75 + 600 =1800 T 44.44%
ok

e Ql X3 £oe — A. 22.22
-] /-F },ﬁf CZ;O‘ B 33.33
53‘\&)&1@“—60 C. 11.11
F © D. 44.44
6X= 2og E. None of these
X = |%//}: 3}2
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Question 13- What value should come in the place of question
mark (?) in the following question?

ETTRId I | 97 g (?) o T 9L A 9T 37T =A11R0?
25% of 424 + 5% of 280 = 22% of 500 + x
424 01 25% + 280 bl 5% = 500 <hT 22% + x

106414 —[1p = x _A= 10
R C. 30
D. 40

E. None of these
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30 Question 14- What value should come in the place of question

mark (?) in the following question?

TR Er%TﬁEr%T%l‘é(?) o T 9T T T ST AMET?

\/37+§/24//1/8’ 564 = 33— 7x?

o0
/@T W;_ //y/\ ll o
by
o .
9 .
L= -1 D. 24
B None of these
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Question 15- What value should come in the place of question mark (?)
in the following question?

|-1H|cf1|t9|c|3r%TﬁEr%n%|‘é(‘?)ohw|-|q{HHormau-ﬂ 3@&&
66 X V2 5/—60%0f400— 50% of W4096)+ 12 X x

380240 = 3) 412 %

/2 A. 3.8
1= Jo-%) _B—4.8
G/%)(: j@»{ﬁ C. 5.8
S D. 3
;" 18 E. None of these
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Question 16- The average weight of P, Q, R, Sand T i@g while the
average weight of R and T 1s 40 kg. If the weight of U is also added,

then the average weight of all six 1s reduced by 4 kg. Find the average
weight of P,Q, S, and U

T 16- P, Q, R, S 3T T o7 3 d IS 50 fohUT & STaifer R 3T T o7 34T

I 40 Torum 21 Tfe U =1 oo ot Sire fean s, ar g+t 38 &1 3fted 9= 4

fohcdl &H &I ST 21 P, Q, S 3T U &1 376d o= JTd shifs

PORECHT = 5 5,
f\){\T: &
0
PHO4Rycy THU <21
P+@+5+U: Q%\%

A. 40kg

P+ 4 $+0 = (9¢ b ok
AL‘W%\- (%:Lﬁ e 49 kg
? — D. 39 kg

E. None of these

|
https://t.me/mathbytarunsirmepl 9




https://t.me/mathbytarunsirmepl



30 Question 17- A certain work was completed by A 1n 18 days, B in 24
days, C 1n 30 days, If A and C did work for 4 days and then leftt, then
B will finishes rest work in how many days?

. 18 ~ ~ ~ 2 . 30~ ~
T4 17- Uk Hi8d R A g1 9|q4|ﬁ,Bméﬁﬁﬁ, CEU & feard

T feRaT TR, Ffd A ST C | 4 Te1 o foTq s ferarm o7 o ors faam, 1 B

@ ) STTh! <hTH 2T Tehe fa=T H T T
A4C | N
5 137 R””‘”"’“&j = 560128 A. 12.33 days
B——)y | 366 I = 23%) B. 23.33 days
12 me B 132 C. 33.33 days
> SO A T T (6(1
(ﬂ+ ) ! /(5/ — D. 5.33 days
C D < ( 7\0*HL))<L( , E_None of these

= [
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30 Question 18- A boat having a speed of 24 Kmph covering a distance of

@ in upstream, and a distance of 60 in downstream. 1if the time
taken by the boat to cover the distance in up and down is in ratio of2:1.
Find the speed of the stream

Uk A1ef TSrershi TTier 24 fepefl ifer =feT & i e o Sidepet 72 fohwt o6t &l 3t
4T o 3TJhed 60 Tohet i gt 21 shtell 21 Il 1 g S ﬁﬁ%?ﬁaﬁ

aT ﬁ R T T 2: 1% AT | &) T hT Tl JTe i
A. 4 km/hr

B~ 6 km/hr
C. 8 km/hr
D. 9 km/hr
E. None of these
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Question 19- The height of an equilateral triangle 1s 24 cm. Find the

perimeter of a square whose side 1s equal to the side of equilateral

triangle.

T 19- Toh GHITE BIYST ol HeTg 24 HHT 81 Teh 3 kT THHATT [T 3hi 5

STErehT ST SHSITE 1T ohl 9Tl o SIe 8|

a 3

:?_\—Jﬂ | Hﬂm\nﬁn £queou ~
R é] N A. 96 cm
Qlﬂxﬂ{ ="x16[3 B. 56cm
B Teul C. 76cm
Q:/g(@ g— D. 66 cm
“E—None of these
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Question 20- If the ratio of Income of 2 companies is 7 : 5, while 1t was

found that the ratio of expenditure 1s 5:3,If both the companies saves
Rs.24,000 in each month. Find the income of B.

qe 2 AT shl ST T AT 7: 5 &, STelich I AT TAT Toh 7 I
AT 5: 3 &, AG GHT -t Sedeh e | 24,000 T =Tt &l B o6l

3T 1 shifs/)

() T 1T

by . A. Rs 84,000
oy < ' §> B~ Rs 60,000
QW_ 2. =3 RUaog C. Rs 40,000
=X 12005 D. Rs 50,000

< [Nooo x$ E. None of these

=X 6%
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